Sistemas Lineales (D)

. 6a+4x+2y =126
6a+ 3x =21
20 =4

. S5¢c+5u+4v =30
5¢+2u =27
6¢c =30

. 6v+2y+4+37=—-6
v+6y=20
6v=0

.3a+5u-+6z=232
2a+2u =14
6a =12

Resuelva cada sistema de ecuaciones.

5.4a+4b+u=20
6a+6b=06
3a=0

6. 4b+3c+3x=15
3b+5¢c=21
2b =4

7.a+4b+6v =17
a+4b =2
2a=0

8. 6a+3c+6u=25
2a+6¢c =10
3a=3

MatesLibres.com




Sistemas Lineales (D) Respuestas

Resuelva cada sistema de ecuaciones.

. 6a+4x+2y =26 5.4a+4b+u=20
6a+3x =21 6a+6b=06

2a =4 3a=0
a=2,x=3,y=1 a=0,b=1,u=—4

= 6. 4b+3c+3x=5
'ggi%i% 3 3b+5¢ =21
6¢ = 30 2b=4
c=5u=1v=0 b=2,c=3,x=—-4

7.a+4b+6v =17

. 6v+2y4+3z=—-6 _
o g dh=>
6v=20 1 5
v:O,y:O,z:—2 Cl:O;b:§7V:§
. 3a+5u+6z2=32 =2
go i
6a =12 3a=3
5
a=2,u=5,7=— —le=—-py=2=
5 a ,C 3,u >
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